
11

1

9

7

4

16

13

8

14
25

2

15

5

6

10

11

9

9

9

10

10

10

16

ASSEMBLY
LM01-1B. (optional 
mounting brackets).
See page 2. Must be 

perchased seperatley. 17

20
20

22

10

21

10

9

10

17

23

23

27

3

Parts may be mirrored or moved to the opposite sides of their 
mountings to change the axial position of the final output.

Ensure that the spring mandrel is running perpendicular to the 
anchor bloack. if not, the anchor block is probably the wrong 
way round!

Fit 3mm spacer between ball 
joint and lever to prevent 
fouling on some throttle bodies. 
lever does not requre bending

Note: This must be installed the correct 
war round, i.e with the tapped hole 
nearest the frame.

26

ITEM NO. PART NUMBER DESCRIPTION QTY.
1 LM01-1B LINKAGE MAINFRAME ASSY 1
2 LF35-2 LINKAGE QUADRANT 1

3 BG0806FDU Ø8xØ10x5.5 FLANGED BEARING 2

4 M35-11 CABLE & SPRING ANCHOR 1

5 BHS8X5X14 TRANSFER LEAVER BUSHES/CLS1 
LINKAGE KIT BUSH 1

6 M5WDZX12.7 M5x12.7 WASHER BZP 1
7 M6X37-ADJ M6x37 THREADED ADJUSTER 1
8 M5X25HZ HEX HEAD BZP 1
9 M5WPZ M5 PLANE WASHER BZP 6

10 M5NZ  M5 NYLOC NUT 7
11 M5X12HZ HEX HEAD BZP 2
13 M35-12 LINKAGE SPRING GUIDE 1
14 P35-14 CLEVIS PIN 4.7X14 1
15 P35-15 R CLIP 1
16 M5X30HZ HEX HEAD BZP 2
17 M6LZ M6 LOCKNUT 2
18 LB01 LINKAGE BRACKET - OVER 1
27 C15 THROTTLE CABLE 1.5 METRES 1
20 LJ5B LINKAGE BALL JOINT 2
21 M5X23AZ M5x23 ALLTHREAD BZP 1
22 BHA8X5X3 ROD END SPACER 1
23 M5LZ M5 LOCK NUT 2
25 BC6C-1 CABLE NIPPLE 6MM CLAMP 1
26 SG20 SPRING LINKAGE 1

2
1 of 2 

© JENVEY DYNAMICS LTD. 2021

Frame:

Tel 01746 768810 

Web WWW.JENVEY.CO.UK

CLS1 -  LINKAGE KIT SINGLE

Version:

Engineered to win



  9
0 

TY
PI

CA
L 

 

TYPICAL LENGTH = 54 LBO1

FOR BODY TYPES TB AND TH

FOR BODY TYPES TB AND TH

A

  1
14

 T
YP

IC
AL

  

TYPICAL 
LENGTH = 85

LBU1

A

  8
9 

TY
PI

CA
L 

 

TYPICAL LENGTH = 53

LBU2

FOR BODY TYPES TB AND TH

A

TYPICAL LENGTH = 53

LBF2 INTAKE END

FOR BODY TYPE SF

A

TYPICAL LENGTH = 71

LBT2 ENGINE END, INTAKE END AS FOR LBF2

FOR BODY TYPE ST

A

FOR BODY TYPE SF

LBF2 ENGINE END, MAY ALSO BE MOUNTED 
OVERHEAD

TYPICAL LENGTH = 71
A

LBD1 - Rover K series
TYPICAL LENGTH = 54

14mm spacer between brackets

TURN BRACKET 'A' TO CHANGE REACH 
RANGE.

REVERSE ASSEMBLY TO LEAD CABLE IN 
OPPOSITE DIRECTION.

LINKAGE ASSEMBLIES

2
2 of 2 

© JENVEY DYNAMICS LTD. 2021

Frame:

Tel 01746 768810 

Web WWW.JENVEY.CO.UK

CLS1 -  LINKAGE KIT SINGLE

Version:

Engineered to win


	Sheet1
	Drawing View2
	Drawing View12

	Sheet2
	Drawing View4
	Drawing View5
	Drawing View6
	Drawing View7
	Drawing View9
	Drawing View10
	Drawing View13


